Pemennst npakrnyeckoro rypa Pecnyonukanckoit ommmnuaasi 2024 roga. 10 kiacc.

Peaxiun: 38 x 0,25= 9.5 6auios
OTtkpeiTHE: 8 BemecTs X 2 6amia = 16 6amios

[TpakTnueckas marpuna = 4.5 6aios

ZnCl2 MgCl2 Pb(NO3)2 KOH Na2SOs | Al2(SO4)3 Na2COs
BaCl2 - - PbCl2Js - BaSO4/s | BaSOa4ls BaCOs/s
ZnCl2 - PbCl2|s Zn(OH)2s, - - (ZnOH)2COs3/ s,
[Zn(OH)4]* CO271
MgCl2 - PbCl2|s Mg(OH)2|s - - (MgOH)2COs| s,
CO2?1
Pb(NOs)2 | PbCl2|s PbCl2|s PbCl2|s Pb(OH)2ls, | PbSO4ls | PbSOu|s (PbOH)2CO3s,
Pb(OH)4]* CO21
KOH - Zn(OH)2]s, Mg(OH)2/s Pb(OH)2/s, - Al(OH)3 s, -
[Zn(OH)4]* [Pb(OH)4]* [AI(OH)4]
Na2S04 BaSOa4/s - - PbSOa|s - - -
Al2(SO4)3 | BaSOa4/s - - PbSOa|s Al(OH)s s, Al(OH)3|s, CO21
[AI(OH)4]
Na2COs |BaCOsls | (ZNOH)2CO03|s, |{(MgOH)2COs|s, | (PbOH)2CO3]s, - - Al(OH)3s,
CO2? CO21 CO271 CO2?
) 4l6 36 (1ip), 17 3ls, 11 715 (1]p), 11 415 3lp) 25 26

1. Pb(NO3), + BaCl, = PbCl,| + Ba(NOs)2

Pb?* + 2CI- = PbCl,|
2. BaCl; + Na;SO4 = BaS0O4 | + 2NaCl
Ba%* + S03~ = BaSOa)

3. 3BaCl; + Alx(SO4)3 = 3BaS04| + 2AICI3

Ba%* + SO3~ = BaSOa]
4. BaCl; + Na,COz = BaCO3| + 2NaCl

Ba®* + CO%~ = BaCOs|
5. Pb(NO3)2 + ZnCl, = PbCl2| + Zn(NOs3)



Pb?* + 2CI- = PbCly|

6. 2KOH + ZnCl; = Zn(OH)2| + 2KCl

Zn?* + 20H = Zn(OH)2|

7. Zn(OH)2]+ 2KOH = Kz[Zn(OH)4]

Zn(OH)2]+ 20H" — [Zn(OH)4]*

8. 2Na;COs + 2ZnCl; + H20 — (ZnOH),CO3] + CO271 + 4NaCl
2Zn?* + H20 + 2C0%™ = (ZnOH),C0O3| + CO,1

9. Pb(NO3), + MgCl; = PbCl3| + Mg(NO3)2

Pb?* + 2Cl- = PbCl,|

10. 2KOH + MgCl; = Mg(OH)2| + 2KCl

Mg?* + 20H™ = Mg(OH)2|

11. 2Na;CO3 + 2MgCl; + H,0 — (MgOH),CO3| + CO21 + 4NaCl
2Mg?* + H,0 + 2C0%™ = (MgOH),CO3| + CO21

12. 2KOH + Pb(NOs3)2 = Pb(OH)2| + 2KNOs3

Pb?* + 20H™ = Pb(OH)2|

13. Pb(OH)2|+ 2KOH = K;[Pb(OH)4]

Pb(OH)2|+ 20H~ — [Pb(OH)4]?*

14. Pb(NO3)2 + Na2SO4 = PbSO4| + 2NaNOs

PbZ* + SOZ~ = PbSO4]

15. 3Pb(NOs3)2 + Al2(SO4)3 = 3PbS04] + 2A1(NO3)3

Pb%* + S04~ = PbSO4]

16. 2Na,CO3 + 2Pb(NO3), + H2O — (PbOH)2CO3] + CO21 + 4NaNO3
2Pb?* + H,0 + 2C0%~ = (PbOH).CO3] + CO2?t

17. 6KOH + Al2(SO4)3 = 2AI(OH)3| + 3K>S04

ARt + 30H™ = Al(OH)3|

18. AI(OH)3]+ KOH = K[AI(OH)4]

AI(OH)3|+ OH~ — [AI(OH)4]

19. 3Na;CO3 + Alx(SO4)3 + 3H0 — 2AI(OH)3| + 3CO271 + 3Na2S04
2A* + 3H,0 + 3C0%™ = 2AI(OH)3] + 3CO?



